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GCSE Exam Questions: Error intervals

1) Kevin truncates the number x to one decimal place. The result is 8.4.

Write the error interval for x.

(2 marks)
2) Ana rounds the number y to 2 significant figures. The result is 7200.
Write the error interval for y.
(2 marks)
3) Amir measures a door to be 782mm wide to the nearest mm.
Write the error interval for the width of the door, w.
(2 marks)
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GCSE Exam Questions: Error intervals

4) Lucy measures the volume of some liquid as 25.73m/ to 2 decimal places.

Write the error interval for the volume of liquid, v.

(2 marks)
5) Olivia calculates an angle of a triangle and truncates her answer to 46.73°.
Write the error interval for the angle, 0.
(2 marks)
6) Juan rounds the number 7 to 3 significant figures. The result is 0.371.
Write the error interval for n.
(2 marks)
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GCSE Exam Questions: Error intervals

7) (a) The perimeter, P, of a square is measured as 28cm to the nearest cm.

Write the error interval for P.

(2 marks)
(b) Hence, find the error interval for the side length, /, of the square,
(2 marks)
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Question Answer Marks
1) Kevin truncates the number x to one decimal 8.4 or 8.5 (€))
place. The result is 8.4. Write the error 84<x<85 1)
interval for x.
2) Ana rounds the number y to 2 significant 7150 or 7250 1)
figures. The result is 7200. Write the error 7150 <y <7250 1)
interval for y.
3) Amir measures a door to be 782mm wide to 781.5 or 782.5 )
the nearest mm. Write the error interval for 781.5mm < w < 782.5mm 1)
the width of the door, w.
4) Lucy measures the volume of some liquid as 25.725 or 25.735 1)
25.73ml to 2 decimal places. Write the error 25.725 <v<25.735ml 1)
interval for the volume of liquid, v.
3) (a) | Olivia calculates an angle of a triangle and 46.73° or 46.74° 1)
truncates her answer to 46.73°. Write the error 46.73° < 0<46.74° 1)
interval for the angle, 6.
(b) | Juan rounds the number 7 to 3 significant 0.3705 or 0.3715 )
figures. The result is 0.371. Write the error 0.3705<n<0.3715 1)
interval for 7.
4) (a) | The perimeter, P, of a square is measured as (a) 27.50r285 (€))
28cm to the nearest cm. Write the error 27.5cm < P <28.5cm )
interval for P.
(b) | Hence, find the error interval for the side (b) 27.5+40r285+4 1)
length, / of the square. 6.875 or 7.125
6.875cm </<7.125cm 1)
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Where to go next?

For more diagnostic questions, and GCSE maths revision resources and
worksheets to support students in fixing any misconceptions take a look
at the free Third Space Learning GCSE maths revision pages.

Scan the QR code to discover our library of FREE GCSE maths revision
resources

Do you have KS4
students who need
additional support in
maths?

Our specialist tutors will help students to develop the skills they need to
succeed at GCSE in weekly one to one online revision lessons. Trusted
by secondary schools across the UK.

Visit thirdspacelearning.com to find out more.
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